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&= mEm | 3 T 14 ne 2| mAm | vTm Hspt
1 BE 2 0~4 1.8 1.8 1.13 O26H11 vV T182 ERSESD
2 BE 5 0~4 1.22 1.24 1.26 O26H11 vV T182 RBEEIRE
3 BE -2 5~9 3.22 3.23 3.28 0157 VT2 ERSESD
4 BE g 204 3.23 3.24 3.29 0157 VT2 ERSESD
5 BE z 204X 3.31 4.12 4.12 O157H7 VT2 HEERE
6 BE g 204 4.22 4.25 5.1 0157 vV T182 ERSESD
7 BE x 104 4.26 5.12 5.16 026 VT ERSESD
8 BE -2 0~4 6.1 6.2 6.4 026 VT ERSESY
9 BE g 304 5.30 6.2 6.8 026 VT ERSESD
10 BE S 0~4 6.13 6.15 6.21 0157 VT2 EREEEY
1" | BREREE x 504 — 6.27 6.27 0157 VT2 EHIRE
12 | BRREREE g 104 - 7.8 7.8 0157 VT2 EHIRE
13 BE L2 601% 7.16 7.19 7.21 0157 VT2 EREEEY
14 f2E S 5~9 1.24 7.25 1.217 O26H11 V T182 EREBEZD
15 BE 2 0~4 7.25 7.25 7.31 0157 vV T182 ERESY
16 |BEREREE x 404 - 1.27 8.1 026 vV T182 EMERE
17 BE x 5~9 .26 7.26 8.2 0157 VT2 EREEEY
18 | RRREE g 304 - 8.1 8.4 0157 vV T182 EMERE
19 |BEREE =S 101 - 8.1 8.5 0157 vV T182 EMERE
20 BE = 304 8.7 8.8 8.10 0157 VT2 EREEEY
21 BE = 104 8.7 8.8 8. 11 0157 vV T182 ERgEI
22 |BEAREE g 1018 — 8. 11 8. 14 0157 vV T182 ERMERE
23 BE 2 5~9 8.3 8. 11 8.15 0157 v T182 EBgETE
24 BE = 104X 8.16 8.18 8.19 0157 VT2 EfRwEI
25 B2E = 5~9 8.17 8.22 8.25 0157 V T182 ERWEI
26 BE 2 5~9 8.22 8.24 8.26 0157 VT2 ERgETS
27 |[BREREE z 304 — 8.25 8.30 0157 vV T182 ERMERE
28 B2E = 0~4 8.31 8. 31 9.2 026 V T 182 ERWEI
29 BE 5 204 8.24 8.28 9.5 0157 VT2 EfRWEI
30 B2E = 0~4 9.17 9.16 9.20 026 V T 182 BBERRE
31 |BEREE g 204% — 10.13 10.13 0157 VT2 EHRIE
32 |BEAREE g 504 — 10. 14 10.18 0157 VT2 ERMERE
33 B2E = 0~4 10.15 10.16 10.19 0157 VT2 EfRwEI
34 B2E = 0~4 10.15 10.16 10. 24 0157 V T 182 EfRWEI
35 B2E 9 5~9 10.23 10.24 10. 26 0111 VT1 ERWEI
36 BE E:S 604€ 10. 26 10. 26 10. 31 0157 V T182 ERWMRIR
37 B2E 5 5~9 12.17 12.19 12. 21 0157 Vv T182 ERHEZD
38 B2E 5 5~9 12.17 12.19 12.22 026 VTA1 ERHEZD




